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#include <iostream>
#include <cstring>
#include <cstdio>
#include <queue>
#define MAXN 205
#define INF Ox3f3f3f3f
using namespace std;

int netfMAXN][MAXN];//remain network, initialized as original graph
int pre[MAXN];

int N, M;

bool bfs(int s, int t)//find an augmented path from s to t
{

int now;

queue<int> que;

memset(pre, -1, sizeof(pre));

pre[s] =s;
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que.push(s);
while(!que.empty())
{
now = que.front(); que.pop();
for(inti=1;i < N+1;i++)

if(net[now][i] && pre[i] == -1)
{
pre[i] = now;
if(i ==t)
return true;
que.push(i);
}//end if
}//end for
}//end while
return false;

}

int EdmondsKarp(int s, int t)

{

#define v pre[u]
int flow = 0;
while(bfs(s, 1))
{

int d = INF;
for(intu=t,ul=s;u=v)

{
}

for(intu=t,ul=s;u=v)

{

d = min(d, net[v][u]);

net[v][u] -= d;
net[u][v] += d;
}
flow +=d;
}
return flow;
#undef v

}

int main()

while(~scanf("%d%d", &M, &N))
{
inta, b, d;
memset(net, 0, sizeof(net));
for(inti=1;i < M+1;i++)
{
scanf("%d%d%d", &a, &b, &d);
net[al[b] += d;//pay attention to repetitive edges
}
printf("%d\n", EdmondsKarp(1, N));
}

return O;
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#include <iostream>
#include <cstring>
#include <cstdio>
#include <queue>
#define MAXN 100100
#define INF Ox3f3f3f3f
using namespace std;

struct edge{//chain forward star
int to;
int next;
int val;

|3

edge Edge[MAXN];
int head[MAXN];

int cnt;
void add_edge(int u, int v, int w)
{
Edge[cnt].to = v;
Edge[cnt].next = head[u];
Edge[cnt].val =
head[u] = cnt++;

}
int disfMAXN];

bool bfs(int s, int t)//mark the no-weight distance to s (run once, move just 1)

{
queue<int> que;
memset(dis, -1, sizeof(dis));
que.push(s); dis[s] =
while(!que.empty())
{

int now = que.front(); que.pop();

for(int i = head[now]; i != -1; i = Edgeli].next)//Traverse all edges starting from now

{
int v = Edgeli].to;
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if(Edgeli].val && dis[v] == -1)
{
dis[v] = dis[now] + 1;
if(v == t)
return true;
que.push(v);
}
}
}

return false;

}
int N, M;

int dfs(int now, int left)//left: eesidual/Fl flow
{
if(now == N)
return left;
int used = 0;
for(int i = head[now]; i != -1; i = Edgeli].next)//Traverse all edges starting from s
{
int v = Edgeli].to;
if(Edgeli].val && dis[v] == dis[now] + 1)
{

int d = dfs(v, min(left-used, Edge[i].val));
Edgeli].val -= d;
Edge[i*1].val +=d;
used +=d;
if(lused == left)
return used;
}
}

return used;

}

int Dinic(int s, int t)
{
int max_flow = 0;
while(bfs(s, 1))
max_flow += dfs(s, INF);
return max_flow;

}

int main()
{
int Case;
scanf("%d", &Case);
intct=1;
while (Case--)
{
memset(head, -1, sizeof(head));
cnt = 0;
scanf("%d%d", &N, &M);
inta, b, d;

FhEE: — AW mEmAmEA


https://ld246.com/article/1564484997196

for (inti=1;i < M+1;i++)
{
scanf("%d%d%d", &a, &b, &d);
add _edge(a, b, d);
add _edge(b, a, 0);//construct the reverse edge

}
printf("Case %d: %d\n", ct, Dinic(1, N));
ct++;

}

return O;

}
FREKEZBE T —ptBACT.
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#include <iostream>
#include <cstring>
#include <cstdio>
#include <queue>
#define MAXN 1010
#define INF Ox3f3f3f3f
using namespace std;

int netfMAXN][MAXN];//remain network, initialized as original graph
int pre[MAXNJ;

int N, M;

bool bfs(int s, int t)//find an augmented path from s to t
{
int now;
queue<int> que;
memset(pre, -1, sizeof(pre));
pre[s] = s;
que.push(s);
while(!que.empty())
{
now = que.front(); que.pop();
for(inti=1;i < N+1;i++)

{
if(net[now][i] && pre[i] == -1)
{
pre[i] = now;
if(i ==t)
return true;
que.push(i);
}//end if
}//end for
}//end while
return false;

}

int EdmondsKarp(int s, int t)
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{
#define v pre[u]

int flow = 0;
while(bfs(s, t))
{
int d = INF;
for(intu=tul=s;u=v)
{
d = min(d, net[v][u]);
}
for(intu=tul!=s;u=v)
{
net[v][u] -= d;
net[u][v] += d;
}
flow +=d;
}
return flow;
#undef v
}
int main()
{
int Case;
scanf("%d", &Case);
intct=1,
while (Case--)
{
memset(net, 0, sizeof(net));
scanf("%d%d", &N, &M);
inta, b, d;
for(inti=1;i<M+1;i++)
{
scanf("%d%d%d", &a, &b, &d);
net[a][b] += d;//construct the reverse edge
}
printf("Case %d: %d\n", ct, EdmondsKarp(1, N));
ct++;
}
return O;
}

it
SHIEr

BRARSH—FIEI 8, MREEDFSH, REATLBIEITE XK, SERR R T —3KIE K.,

SR

MTFE—IR, ECR EXREIN—FA, EARMNEXE —ERMRET (BIXREERIE
SRINERKFEH T EERED, ARG 7)) , FT—RMAYEREE, MEREF—

[R3CE: — R GesnE =


https://ld246.com/article/1564484997196

WITEANA.

MR ASRERENEE, BRI ERERAD,

SCFREAIBRIRHERIER, head¥UBHIIAE-1, FHERTMNOFHIATRE, XEERESRAEMAFHE
RfE, ERSEEA.

KT EHheadrVg&Hcur; BRIRN T HRIENL. BEE ROMAFTEBET.

(EREEMRNIREERI—LEMER, curdlEAIRESSHTLE, AMERd—TFHDU 3549 Flow P
sbterr

J:Eé% BelE, tHAS éﬁzTLE {E&ET %DJ_ﬁBEx{tﬁ%jJH/ATLE(T E]‘%%SZ@ET ﬁJf’jc 1!
@Zj( TITLETDEG, o i L ooy i = “--- somas e
n?bauto%?“ Eﬂquefront()ET_JL,UJn J'LH 1&!1?%, ’E@D‘S B!

#include <iostream>
#include <cstring>
#include <cstdio>
#include <queue>
#define MAXN 2010
#define INF 1e9+7
using namespace std;

#14H
I 7

struct edge{//chain forward star
int to;
int next;
int val;

|3

edge Edge[MAXN];
int head[MAXN];
int cur[MAXN];

int cnt;
void add_edge(int u, int v, int w)
{
Edge[++cnt].to = v;
Edge[cnt].next = head[u];
Edge[cnt].val =
head[u] = cnt;

}

int N, M;
int disfMAXN];
bool bfs(int s, int t)//mark the no-weight distance to s (run once, move just 1)
{
inti;
queue<int> que;
memset(dis, 0, sizeof(dis));
que.push(s); dis[s] = T;
while(!que.empty())
{
auto now = que.front(); que.pop();//The auto here can speed up your code!!!!
for(i = head[now]; i; i = Edgeli].next)//Traverse all edges starting from now

{
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int v = Edgel[i].to, ¢ = Edgeli].val;

if(c && !dis[v])
{

dis[v] = dis[now] + 1;
que.push(v);

}
}

return dis[t];

}

int dfs(int now, int left)//left: eesidual/Fl&F flow

{
if(now == N || !left)
return left;

for(int &i = cur[now]; i; i = Edgeli].next)//Traverse all edges starting from s

{
int v = Edgeli].to, c = Edgeli].val;
if(c && dis[v] == dis[now] + 1)

{
int d = dfs(v, min(left, c));
if(d)
{

Edge[i].val -= d;
Edge[i*1].val +=d;
return d;
}
}
}
return O;
}
int Dinic(int s, int t)
{
int max_flow = 0;
while(bfs(s, t))

{
int val;
for(inti=1;i < N+1;i++)
curli] = head]Ji];
while((val = dfs(s, INF)))
max_flow += val;

}
return max_flow;
}
int main()
{
int Case;
scanf("%d", &Case);
intct=1;
while (Case--)
{

memset(head, -1, sizeof(head));
cnt = 1;
scanf("%d%d", &N, &M);
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int a, b, d;
for(inti=1;i < M+1;i++)
{
scanf("%d%d%d", &a, &b, &d);
add _edge(a, b, d);
add_edge(b, a, 0);//construct the reverse edge

}
printf("Case %d: %d\n", ct, Dinic(1, N));
ct++;

}

return O;

}
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